Chemistry 11

                                            Name: ________________________ 

Ch 2.1 notes
                                                                                                          Blk: ______      Date: ______________

Ch 2.1:  Unit Conversions

A quantity is a property that can be described by a number and a unit.  In everyday life, units are often omitted because the context is clear.  What unit is implied by each of the following quantity?

a) How old are you?  Eighteen.  _____________________

b) How tall are you?  One-ninety-three.  _______________

c) How much do you weigh?  Seventy-five.  ___________________

The method of unit conversions uses conversion factors to change the units associated with an expression into a different set of units.

The 3 Steps of Unit Conversion:

1. Identify the given (initial amount) & its UNITS

2. Identify the unknown  amount and its UNITS

3. Use a conversion factor (C.F.) which relates the different units.

4. Cancel out units as you would with numbers

Examples of C.F.:

1 min = 60 min

1 min = 60 second

1 mile = 5280 feet

1 pound = 454 g

1 inch = 2.54 cm

1 feet = 12 inch

*Note:  When you write the conversion factor, write it VERTICALLY to cross out units easily.  You may turn factors upside down. 


E.g. 1 min = 60 s     or                                                 or 
Practice Problems

1)  How many minutes are there in 3480 seconds?

2)  If a car can go 80 km in 1 h, how far can the car go in 8.5 h?

3). Sugar costs $0.980/kg. Given 1 t = 1000 kg.  How many tones (“t”) of sugar can you buy for 

      $350?

4) If eggs are $1.44/doz, and if there are 12 eggs/doz, how many individual eggs can be bought for 

    $4.32?

5) How many kilometers (km) will a car traveling at 120 km/h go in:  a) 0.25 h? b) 12 min?

6)  If 1 yard = 3 feet, 1 foot = 12 inches and 1 centimeter = 0.3937 inch, how many centimeters are there in 5 yards?

Assignment:  Show all your work.

1. Computer disks cost $6.00 for 10 disks.  How many disks can you buy for $36.00?

2. Cork has a density of 0.35g/mL.  What is the volume of 20g of cork?

3. One molecule of sulphur contains 8 sulphur atoms.  How many sulphur molecules can be made from 104 sulphur atoms?

4. It takes 12 hours by air to travel from Vancouver to Dalian.  How many seconds is the 

      flight?

5. An old barometer hanging on the wall of a mountain hut has a reading of 27.0 inches of mercury.  If 1 inch of mercury equals 0.334 atm and 1 atm = 101.3 kPa, what is the pressure reading of the barometer, in kilopascals (kPa)?

6. A drop of water contains approximately 1.70 x 1021 molecules.  If the water were evaporating at the rate    

of one million molecules per second, how many years would it take for the drop of liquid water to disappear completely?

Challenge:  A Wedding Gift

A chicken farmer wished to purchase a gift for his wife.  The gift was worth 2 horses.  At the local market, 3 horses were worth 5 cows, 1 cow was worth 4 hogs, 3 hogs were worth 4 goats, and 1 goat cost 9 chickens.  How much was the gift going to cost the farmer, who had to pay in chickens?
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